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ENGLISH VERSION

Explain Human Resource Management with it's 14
advantages and disadvantages.
OR
Write a different methods of Human Resource Management. 14
Write Distinction between Cost Control and Cost Reduction. 14
| OR
Explain cost reduction and cost control with it’é_ process. 14
The balance sheet of Gavaskar Ltd. as on 315 March 1998, 14
was as follows : g -
Liabilities Rs. [Assets | _ - Rs.
Share'_Capital ' ~|Land and Building | 60,'000.
E/s of Rs. 100 " |Plant - 30,000
each fully paid | 2,00,000 Investments 40,000
General Reserve 40,000 {Stock 50,000
Creditors : 60,000 {Debtors 30,000
Bank balance 40,000
3,00,000 3.00,000

The assets were revalued as under :

Land-Building.......cccooveeeeernneene. 75,000
Plant ..oooeeeeeeeeeeeeeeee v 70,000
SEOCK et 45,000

You have to calculate the goodwill of the above business
at two year's purchase of average super proﬁt of the last

3 years. The rate of return of the capital employed in this

type of business is 10%.
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The net profit (after tax) of the last 3 year and the
appropriate weights for calculating average profit are as follows :

Weight
1995-96 32000 1
1996-97 47,600 2
1997-98 52,000 3

This amounts include income from interest (after tax)
on investment 2000 per year.
Determine the instrinsic value of shares from the above

information.
OR
The following is the Balance Sheet of Prakash Ltd. as on 14
31-3-1999 .
Liabilities Rs.| Assets Rs.
Share capital Goodwill 30,400
40,000 10% P/s of | Land and |
| : Building 5,40,000|
- Rs.10each | 4,00,600| — Depre.  __ 20,000'| 5,20,000
40,000 E/s of 10 each | 4,00,000| Machinery 5.00,000 -
Reserve and Surplus | 1,28,000| — Depre. 20,000} 4,80,000
Profit and Loss A/c 32,000| Furniture 25,600
15% Debenture 1,600,000 — Depre. 1,600 24,000
Provident Fund 40,000 Investment :
Bills payable 14,000 10% Investment
Creditors 32,000 against Provident
TFund 40,000
12% debentures
of Spandan
Litd. 45,600 85,600
{face value Rs. 48,000
| and interest is taxable) |
Stock _ 32,000
Debtors 24,000 '
-—B.D. Res. - 1,600 22,400
Cash and
) Bank balance 11,600
12,06,000 " 112,06,000
6
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Additional Inmformation

(1) The present market value of Land-Building is 5,69,600.

(2) The company's average annual profit (before deducting

tax at 50%) is Rs. 2,24,000.

(3) The expected rate of return on capital employed in this

type of business is considered to be 10%.

() The value of Goodwill of the business has been

ascertained at Rs. 60,800,

From the above particulars; ascertain the fair value of

equity share of the company..

OR

Explain Product Pricing with it's method.

14

- Ajanta Co. Ltd. has following Profit and Loss Alc for the 14

year ending 31-3-2012 Production .and Sales is 1200 clock

In current year :

Particular Rs.| Particular Rs.

To Material 48,000( By Sales 2.,40,000
To Wages 72,000
To Produ. Exp. 30,000
To Gross Profit 90,000

2,40,000 2,40,000

To Staff Salary 36,000| By Gross Profit 90,000

To Rent and Taxes 6,000 = '

To Selling exp. 12,000
To General exp. 18,000
to Net profit 18,000

90,000 190,000
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Following Budget is given for the year 2012-13 :
(1) Production and Sales 1500 clocks.

(2) Material cost. increase by 25%.
(3) Wage cost increase by 12.5%.

(4) DProduction cost is increase in same proportion with

combine cost of material wages.
(5) Selling cost per unit remains the same.
(6) Other expenses are fixed in total.

Calculated selling price of clock to get 10% profit on
selling price.

5  Define Social Cost Benefit Analysis and explain it's stages. 14
OR

5  Explain Social Cost Benefit Analysis with it's concept. 14
Write advantages and disadvantages of Cost Benefit Analysis.
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